LH6E

EHKES

HEs - JUE
-l

B TAI0A | 2A14H | 3A11A | 5A228 | 6AI2A | JAI0H | 8AIH | 9AIIA | 10A16E | 11A6H | 12A48
BRI BH[_ 905 9:10 9:00 1124 [E3 11:37 1152 12:08 13:07 13:00 13:04
B (R Lk O E D[k DK D [E D [FE DK D [FE D|E DK D
E33 f ) ] ] f ) ] f ) f ) ] f ) ] ]
353 m| —0.04 —0.02 0.02 011 0.02 0.02 —0.04 0.02 0.05 0.08 0.18
B3] m3/sec - - - - - - - - - - -
5 [2ER m|  0.12 0.20 0.18 0.29 0.22 0.38 0.24 0.27 0.17 0.18 0.36
w [BRKKE m| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
8 |83 c| 2.0 4.8 2.0 221 251 28.0 30.0 2.5 211 18.9 1.4
A k& |21 3.3 3.3 15.4 191 20.8 2.8 232 7.7 15.4 9.3
" SR (1) (kofia) REZH | RAZH | RE2Y | RAEY | RAZH | RESY | RAZH | RE2H | RESY | RAZH | RES2H
H AR (2) GRR) [ F [F [F [F [ F3 [F3 [F [F [ F [ F [F
R (3) (KERER) - - - - - - - - - - -
SR (4) (D) - - - - - - - - - - -
RE ORE) ] ] ] ] ] ] ] ] ] ] ]
EEI om|_ >100 >100 100 100 >100 100 100 100 100 100 100
ZARE m - - - - - - - - - - -
TE|pH 7.3 7.3 75 T4 7.6 75 7.6 7.6 7.6 T4 75
5%[BoD mg/L[ 0.8 0.8 0.9 <0.5 0.5 0.5 0.5 0.6 0.5 0.6 0.5
AR (cop me/L| 1.5 22 0.6 T4 7.2 T4 77 7.3 7.0 0.9 0.8
gg Ss mg/L 1 < <1 < < <1 <1 < <1 <1 <
#g[DO mg/L|__13.8 3.5 2.7 10.3 9.5 9.5 3.2 3.8 701 70.0 1.4
we[XMERE (1) WPN/100mL 9 12 [} 17 ] 36 97 51 [} 50 16
B I-[RER mg/L| 0.4 0.07 0.03 0.08 011 0.13 0.24 011 011 0.12 0.09
LY mg/L| 0.002 0.008 0.008 0.006 0.006 0.006 0.009 0.005 0.003 0.014 0.004
AESOL me/L| - = = = = = = = = = =
7Y 7 - - - - - - - - - -
3 7 - - - - - - - - - -
6y 0L me/L - - - - - - - - - - -
EX e/l - - - - - - - - - - -
RAR e/l - - - - - - - - - - -
A [FrEvxE me/l| - - - - - - - - - - -
() PCB mg/L - - - - - - - - - - -
[ sonnoisy mg/L - - - - - - - - - - -
B ImEERE e/l - - - - - - - - - - -
g 1,2-¥500x8y mg/L] - - - - - - - - - - -
E! 1,1-S5o0nxFLy mg/L - - - - - - - - - - -
I YA, 2-POREIFLY mg/L - - - - - - - - - - -
B 111-kysnaTsy mg/L - - - - - - - - - - -
¥ [LL2-rusnnxsy mg/L - - - - - - - - - - -
5 [FuzmmzFLy me/L| - B B B B B B B B B B
; FrS/00IFLY mg/L] - - - - - - - - - - -
F 1,3-40n7a<xy (D-D) mg/L - - - - - - - - - - -
& [F55& mg/L - - - - - - - - - - -
R IV (CAT) mg/L] - - - - - - - - - - -
B [FERUINT RoFEA—I) mg/L - = = = = = = = = = =
RUEY mg/L - - - - - - - - - - -
LY /L] = = = = = = = = = = =
[FRESXAVERRBER 7 . . e e e e e e e e
5o% 70 - - - - - - - - - -
EFES mg/L - - - - - - - - - - -
T, A-SAXTY 70 - - - - - - - - - -
i;;kﬁﬁlllﬁ w0 el - _ _ _ _ _ _ _ _ _ _
FUOE—SLBER mg/L| 003 = £0.01 0.02 = 0.02 = <0.01 = 0.01 =
EWREER mg/L| <0.002 - <0.002 <0.002 - <0.002 - <0.002 - <0.002 -
LELFES mg/L|_ 0.08 = 0.03 0.04 = 0.07 = 0.07 = 0.08 =
AREEX (ON) mg/L] 0.08 - <0.01 0.02 - 0.04 - 0.03 - 0.03 -
BREERR mg/L| - - - - - 012 - - - - -
[EEY me/l| - - - = = = = = = = =
® [FAFUCBBY mg/L|_0.002 = 0.006 <0.003 - <0.003 - <0.003 - <0.003 =
3 [BEELALFV-BEUS mg/L - - - - - <0.003 - - - - -
= [AmERY> me/L - - - - - 0.006 - - - - -
£ [P me /L] = = = = = = = = = = =
R [EBEEE (TOC) mg/L] - - - - - 0.6 - = = = =
B [am#cop 7 - - - - - - - - - -
s0R74)a ne/L <1 - <1 <1 - <1 - <1 - <1 -
2xA24FY (FzFEBR) ue/l <1 - <1 <1 - 1 - <1 - 3 -
YRR e/l - - - - - - - - - - -
EE] 7 - - - - - - - - - -
CUEEPVAYE #R/ml|__ 215 = 199 % = 38 = 86 = =
BhTS5 s FoBR ] - = - - - 1 = - = - =
sooFkiLA mg/L] - - - - - - - - - - -
F522-1,2-/00IF LY me/L - - - - - - - - - - -
1,2-¥5 00708y mg/L] - - - - - - - - - - -
p—Y/nARVHEY mg/L - - - - - - - - - - -
1IXGFEY mg/L| - - - - - - - - - - -
F47S/ Y mg/L - - - - - - - - - - -
2z=kFAFF> (MEP) mg/L - - - - - - - - - - -
1V7aF+5> mg/L - - - - - - - - - - -
AW AR mg/L[ - - - - - - - - - - -
2BE4%8=)L (TPN) mg/L - - - - - - - - - - -
B [FOE¥sF me/L| - - - - - - - - - - -
g A Erm e/l - - - - - - - - - - -
R SH5aLRR (DDVP) mg/L - - - - - - - - - - -
[ 2/ 7ALT (BPMC) mg/L] - - - - - - - - - - -
170X kR (1BP) mg/L - - - - - - - - - - -
saL=FA2x> (CNP) mg/L] - - - - - - - - - - -
LTy mg/L] - - - - - - - - - - -
EXA mg/L - - - - - - - - - - -
FENBUIFAANFYIL mg/L] - - - - - - - - - - -
i mg/L - - - - - - - - - - -
EYITFY mg/L - - - - - - - - - - -
FUFEY mg/L - - - - - - - - - - -
5o% g/t - - - - - - - - - - -
3% me/[ - - - = = = = = = = =
gg"; A Bl <.2 0.2 0.2 0.6 0.4 0.5 0.9 0.4 0.4 0.3 0.3
ARE ms/m - - - - - 5.6 - - - - -
ron |REEXBEER @/100m| 2 = 2 40 = 46 = 82 = 130 =
1A RSV A mg/L] 8.2 1.2 8.5 10 i 10 12 12 12 13 10
BRES ) 5 g/l - - - - - - - - - - -
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